Class - 8 Ch - 8 Exercise - 9.3



Question 1.

A farmer can reap a field in 10 days while his wife can
do it in 8 days (she does not waste time in smoking).
If they work together, in how much time can they
reap the field ?

Solution:

"." Farmer can reap a field in 10 days

". In 1 day farmer can reap field = %
".* farmer’s wife can reap a field in 8 days

". In 1 day farmer’s wife can reap field :é

". Farmer and his wife can reap field in 1 day
1 1 _ 445 _ 9
08~ 10

40 40
40 4
.. Farmer and his wife reap field in = 9 days i.e. 43
days.
Question 2.

A can do 5th of a certain work in 2 days and B can do
srd of itin 8 days. In how

much time can they together complete the work ?
Solution:

A can do %’[h of a certain work in = 2 days

B can do 3rd of a certain work in = 8 days
1 1 1
As,1daywork =5 * 2 = 10

2
5 X

2
B's, 1 day work = 3

1
A+ B)s1da wnrk:ﬁJrﬁ
y



_6+5 11

“760 60
Hence ( A + B) can do the complete work in
1 60
AT days=l—— days
(%)
5
-—5ﬁ days
Question 3.

One tap fills a tank in 20 minutes and another tap fills
it in 12 minutes. The tank being empty and if both
taps are opened together, in how many minutes the
tank will be full ?

Solution:

".* First tap fill a tank in 20 minutes

.. Second tap fill a tank in 12 minutes

1
". In T minutes first tank fill = 20 parts

1
. In T minutes 2nd tank fill = 12 parts
". In 1 minutes 1st and 2nd tank fill

8 2
=60 P g pars
. First and second tank fill

——— minutes = L} minutes

[z

=7%mmmu.



Question 4.

A can do a work in 6 days and B can do it in 8 days.
They worked together for 2 days and then B left the
work. How many days will A require to finish the
work?

Solution:

A can do a work in = 6 days

B can do a work in = 8 days

. As, 1 day work =3

B*s,ldayworkz%

(A + B)'s | day work =

+

1
6
_4+3 7
24 24

y (A+B)’s:2daywork=2x-%={{2-
- 7
Renmnmgwork=l-ﬁ
_12-7_5
12 12
Now A doing the remaining work.
. A can do a work in = 6 days

5 e o 5
A Acandoﬁworkm-ﬁxﬁdays

5 |

1

HmAﬁnishﬂwworkin=22

days.



Question 5.

A can do a piece of work in 40 days. He works at it for
8 days and then B finishes the remaining work in 16
days. How long will they take to complete the work if
they do it together?

Solution:

A can do a piece of work in = 40 days

1
. As, 1 day work =30
1

.. A's, B day work =0 =3

5-1 __ 4
5 5

Remaining work = 1-3-
" Bcando3 piece of work in = 16 days

4
; 4 1

5 _
16 5x16 20
11

Now (A + B)’s, | day work =I6+E

> B's, | day work =

_1+2 _ 3
40 40
Hence (A + B) can do a piece of work

=-I—days=£dlys

@)

= |3 days



Question 6.
A and B separately do a work in 10 and 15 Solution:
days respectively. They worked together for some
days and then A completed the remaining work in 5
days. For how many days had A and B worked
together?
Solution:
A can do a work in = 10 days
B can do awork in = 15 days
A's, 1 day work = ... (i)
B's, 1 day work = 5
(A+B)'s 1 day work
=I_|_l=3+2=!5=l
10 15 30 30 6
Let they worked together for x days.

X

. (A + B)’s, x day work = 6

X
Remaining work = (l - g)
Given, A's do Remaining work
Le. (: *_%) in =5 days

A's, | day work



().
- 6) 6-x 6-x (i)
¢ 5 T 6x5 30

From (1) and (2), we get

= I=6_I=::-£—6 X
10 30 10

= 3=6-x =>x=6-3

=>x=J3

Hence A and B can do work together in 3 days.

Question /.
If 3 women or 5 girls take 17 days to complete a
piece of work, how long will 7 women and 11 girls
working together take to complete the work?
Solution:
Since 3 women's work = 5 girl's work
. 1 women's work = %girl's work
. 7 women's work =3 x 7 girl's work = ? girls’ s work
. 7women and 11 girls works = %+ 11 girl's work =
ﬁa_g girl's work
Since 5 girls can do the work in 17 days

*. 1 girl can do the work in 17 x 5 days
68 17x5

.3 girls can do the work in () days

17Tx5x3
=" 68 days

=7 days = 3% days
Hence 7 women and 11 girls can do the complete
work in 3% days.



Question 8.

A can do ajob in 10 days while B can do it in 15 days.
If they work together and earn ¥3500, how should
they share the money ?

Solution:

A can do ajobin 10 days

Then in one day A can do job = i

B candoajobin 15 days
Then in one day B can do job = 15
Both A and B can do job in one day =

1 1 _ 342 _ 5 _ 1
+3 30 — 30 6

' Fmr%part of work earning = 3500
' F::}r‘l part of work earning = ?3500 X6

ﬂ{i
Far m part of work earning =% 10 =32100

ﬂ-ﬂ
For 15 15 part of work earning = ? =31400
Hence A gets 2100 and B gets ¥ 1400

Question 9.

A, B and C can separately do a work in 2, 6 and 3 days
respectively. Working together, how much time
would they require to do it ? If the work earns them
31960, how should they divide the money?

Solution:

o

As one day work =

|—lc‘:| b2
—

B's one day work =

C's one day work =

Working together of A+B+C=
1 141 + — 3+142 _ 6

6 G
.. They can finish the work by working together in 1
day



So they should divide the money in the ratio

L
2°6°3

i.e.%xlz:%xu:%xn
JO. 02228

Sumoftermsofratio=6+2+4 =12

6
. A’s share = 2 1960

6
=F| — x 960 |=
{(&x960)-vas



Question 10.

A, B and C togetlier can do a piece of work in 15 days,
B alone can do it in 30 days and C alone can do it in
40 days. In how many days will A alone do the work ?
Solution:

(A+ B+ C) can do a piece of work in = 15 days

B alone can do a piece of work in = 30 days

C alone can do a piece of work in = 40 days

"o (A+B+C)s1daywork = i5

B's 1 day work = 3%

1
C's 1 day work =40

| l |

1 (4+3) 1 7 .
15 L120) 15 120
=7 1

120 120

Hence A can do a piece of work = 120 days.




Question 11.
A, B and C working together can plough a field in 4%
days. A and C together can do it in 8 days. How long
would B working alone take to plough the field ?
Solution:
(A + B+ C) can plough afield in = ‘%days =5 days
(A + C) can plough a field in = 8 days

o (A+B+C)s1day work =% days
(A +C)'s 1 day work =38 da}rs

1 5-3 _ 2 1
Bs”ldaywork—m 8="24 — 24 12

Hence B can do the work in = 12 days.

Question 12.

A and B together can build a wall in 10 days; Band C
working together can do it in 15 days; C and A
together can do it in 12 days. How long will they take
to finish the work, working altogether? Also find the
number of days taken by each to do the same work,
working alone.

Solution:

(A + B)'s can build a wall in = 10 day

(B + C)'s can build a wall in = 15 days

(C+ A)'s can build a wall in = 12 days

. (A+ B)’s | day work =%

(B + C)'s |1 day work = %

(C+A) I daywork*l
“ [(A+B)+ (B +C)+(C+A)]'s | day work



LR
10 15 12
= 2(A+B+C)’s | day work

___6+4+5 _ 15
60 60

-
a

=~(A+B+C)'sldaywork=%

Hence ( A + B + C) can build the wall
= 8 days
Also [(A+B+C)-(B + )]s | day work

1 1 _15-8 7

8 15 120 120

; e
= A’s | day work = 120

. A can build the wall =«!%9- days

1
*;?- days

Also [(A+B +C) (A +C)]'s one day work
1 1 _3-2 = 1

8 12 24 24

. _ 1
= Bsoncdaywork-—u

Hence B can build the wall = 24 days.
Also [(A+B + C)~- (A + B)]’s one day work

1 1 _5-4 1

8 10 40 40

=17

=>C‘somdaywork=~4lﬁ

Hence C can build the wall = 40 days



Question 13.

A pipe can fill a tank in 12 hours. By mistake, a waste
pipe in the bottom is left opened and the tank is filled
in 16 hours. If the tank is full, how much time will the
waste pipe take to empty it?

Solution:

Pipe can fill a tank in = 12 hours

By mistake pipe can fill a tank in = 16 hours

1
. In 1 hour fill a tank = 12 part

By mistake In 1 hour fill a tank = T part

portion of the tank emptied by the waste pipe in one
hOUl’:ll_'z_%:le;SQ:éll_S

Hence for the tank is full, time will the waste pipe

take to empty = 48 hours.



